Constraint Solvers : Lab 2, Step 1 – Sorting – TO HAND IN
Degree heuristic, Minimum remaining values, Forward checking

AI Pt 2, Spring 2009

STEP 1: Write sort methods to prioritize


A.  By number of neighbors – territories (states) with more neighbors are higher in the list


B.  By number of color choices – territories (states) with fewer color choices are 
prioritized 
higher in the list


PART A: EXAMPLE OUTPUT FOR A


Neighbors dictionary: 


{'WA': ['SA', 'NT'], 'Q': ['SA', 'NT', 'NSW'], 'T': [], 'V': ['SA', 'NSW'], 'SA': ['WA', 'NT', 'Q', 'NSW', 'V'], 'NT': ['Q', 'WA', 'SA'], 'NSW': ['Q', 'V', 'SA']}


sorting this list of territories, largest # of neighbors first



in insert, sorted neighbors=[]



in insert, sorted neighbors=['WA']



in insert, sorted neighbors=['Q', 'WA']



in insert, sorted neighbors=['Q', 'WA', 'T']



in insert, sorted neighbors=['Q', 'WA', 'V', 'T']



in insert, sorted neighbors=['SA', 'Q', 'WA', 'V', 'T']



in insert, sorted neighbors=['SA', 'Q', 'NT', 'WA', 'V', 'T']


Neighbors sorted ['SA', 'Q', 'NT', 'NSW', 'WA', 'V', 'T']


PART B: EXAMPLEOUTPUT


Territory NT has colorchoices ['blue']


Territory NSW has colorchoices ['blue']


Territory WA has colorchoices ['green', 'blue']


Territory V has colorchoices ['green', 'blue']


Territory T has colorchoices ['red', 'green', 'blue']


colorstochoose list={'V': ['green', 'blue'], 'NT': ['blue'], 'T': ['red', 'green', 'blue'], 'WA': ['green', 'blue'], 'NSW': ['blue']}


Territories sorted by # of choices=['NT', 'NSW', 'V', 'WA', 'T']
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